MODEL : JASMYN CHAIR
ASSEMBLY INSTRUCTION

Dear Customer,

Thank you for purchasing our furniture products.

Read the insfruction carefully.See hardware and fumniture part list for guidance.Be sure all part is compiete before assembly.Place
all wooden furniture parts on a clean and fiat surface to prevent from being scratched.Follow the figure to start assembling.

CAUTIONSIH
1. DO NOT FULLY TIGHTEN THE NUT OR BOLTS UNTIL ALL THE NUTS OR BOLTS IS READY ASSEMBLED.
2. DO NOT OVER TIGHTEN THE NUT OR BOLTS TO AVOID CAUSING DAMAGES TO THE THREAD.

NO PARTS LIST QTy NO HARDWARE LIST QTY
A |CHAIR BACK 1pc E amugn()  |JCBC BOLT M6 x 40mm | 2 pcs
B |SEAT FRAME 1pc F qamu () |JCBC BOLT M6 x 60mm | 4 pcs
C |FRONTLEG 2 pcs G i JCBC BOLT M6 x 80mm 4 pcs
D (CUSHION SEAT 1pc H SPRING WASHER 10 pcs

i ALLEN KEY 1pc
J FLAT WASHER 10 pcs
K CSK SCREW M4 x32mm | 3 pcs

NOTE: THE LIST QUANTITY SHOW ABOVE IS FOR 1 UNIT ASSEMBLY.

STEP 1

|Please push the cushion seat
to the end just tie up the screw

MADE IN MALAYSIA




